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for ((init; @ORdEEIOR; increment ) {
statement(s); /| code block
}

Here is the flow of control in a for loop —

+ The init step is executed first, and only once. This step allows you to declare and initialize any loop control
variables. You are not required to put a statement here, as long as a semicolon appears.

+ Next, the condition is evaluated. If it is true, the body of the loop is executed. If it is false, the body of the
loop does not execute and flow of control jumps to the next statement just after the for loop.

+ After the body of the for loop executes, the flow of control jumps back up to the increment statement. This
statement can be left blank, as long as a semicolon appears after the condition.

+ The condition is now evaluated again. If it is true, the loop executes and the process repeats itself (body of
loop, then increment step, and then again condition). After the condition becomes false, the for loop
terminates.
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for( init; condition; increment )

{

conditional code ;
}

" If condition
is true

code block If condition
is false

L increment
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The break statement is used to terminate the loop. As soon as a break statement is executed within the
loop, the loop iteration stops and the very next statement after the loop starts executing.
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A continue statement, just like a break statement, is a loop control statement. Instead of terminating the loop and exiting
from it, the continue statement forces the loop to skip the current iteration and continue from the next iteration.

l‘ ,fa— nocin mel~ do.f-\.—u; https://www.educative.io/answers/how-to-use-break-and-continue-in-cpp

https://www.simplilearn.com/tutorials/cpp-tutorial/break-and-continue-statements-
cpp#:~:text=Break%20statement%20stops%20the%20entire,resumes%20with%
20the%20successive%20iterations.
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https://www.freecodecamp.org/news/what-is-debugging-how-to-debug-code/

https://www.geeksforgeeks.org/debugging-tips-to-get-better-at-it/






